C L MARKING SCHEME - CSSE ENGLISH TEST FOR ENTRY IN SEFTEMBER 2007
Candidates must pot tick more hoxes than they are instructed to. Any whe do will lose sl the

marks for that question.

Question | Answer . . Marks
1 B E 2 marks
2 CFG 3 marks
3 C 1 mark
4 B, D F 3 marks
5 B 1 mark
[ B 1 mark
TA true
7B false
7C false
T true
| TE false
TF true
TG trye T Marks
BA denoted
| BB silhoueties
8C despotic
BD endurance
8E trance
8F itinerant
8G repository
3H incandescent
81 velocity
aJ inexorable
3K severely
3L respite 12 marks
bl straw I mark
104 troe
10B false
10C false
| 10D false
10E false
10F true 6 marks
11{i) C 1 mark
11{li} A | The ones on the machine perspire. (2 marks)
11({[) B | The ones on the machine talk the least. (2 marks)
11{{i)} C | The ones on the machine have to work at the speed/pace of the
machine which does not stop or pause. (2 marks)
The ones on the machine could not take a drink or have a rest.
(2 marks). I mark for content, { for sentenmce. Condidate must have
3 correct pleces of evidence out of the four possible answers to gain the total
of 6 marks & marks
12 Open and close inverted commas around “I am so tired” (1 mark)
Open and close Inverted commas around “You can rest soon,” (1 mark)
comma after “soon” inside inverted commas (1 mark)
comma after “Tzz™ before open inverted commas (1 mark)
open and close inveried commas around *when the machine
stops.” (1 mark)
comma after murmured, il stop after tired
{1 mark for both correct)
Tess murmured, “1 am so tired.™
“You can rest soon,” said Izz, “when the machine stops.” 6 marks
TOTAL 50
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